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So how exactly does the 10X safety factor work? Think of 

it as an extra layer of protection. For example, think about 

a toddler riding in a car. A seatbelt would not provide the 

appropriate amount of protection. Add a car seat - this is 

an example of increasing the safety factor many times over 

(10X). Add an alarm to alert the driver to anything left in the 

backseat, which protects the child from possibly being left 

in the car, which is another 10X. This example results in two 

10X safety factors. Prior to the passage of FQPA, pesticide 

risk assessments generally had two 10X safety factors  

added. FQPA added a third 10x safety factor to provide 

even greater protection of infants and children.   

What is a 10X Safety Factor?


